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POLYNOMIALS

SECTION A: (1 MARK)

(cBsE 2008) (9x* —3x—2)

Form a quadratic polynomial whose zeroes are > and =

2 If-1isa zero of the polynomial £(x) = x2 — 7% — 8, then find the other zero. (8
(CBSE 2012)

3. Ifaand fare the zeroes of the polynomial 2x% + 5x + 1, then what is the (2)
value of @ +f +af?

4. Ifthe sum of the zeroes of the polynomial P(x) = 3k + (2k + Dx —k +5 (k=-6)
is equal to the product of the zeroes, then, find the value of k.

5. The graph of the polynomial f(x) = 2x — 5 is a straight line. At which point (g ﬂ)
does the graph intersect the x-axis? (CBSE 2012) 2’

SECTION B: (2 MARKS)

10.

For what value of k, (-4) is a zero of the polynomial x* ~x—(2k+2)?  (CBSE2009) ~ K=9
If mand n are the zeroes of the polynomials 3x2 + 11x — 4, find the value nl% + i (*145)
(CBSE 2012) 12

If the zeroes of the polynomial x? + px +q are double in value to the zeroes of the. p=-5
polynomial 2x2 — 5x — 3, find the values of p and q.

Form a quadratic polynomial whose one zero is 3 + V2 and the sum of zeroes is 6.

If ax? — 7x + ¢ has 14 as the sum of the zeroes and also as product of the zeroes, a
find the value of aand c. (HOTS) ¢
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SECTION C: (3 MARKS)

11

1a.

Find the zeroes of the following polynomials by factorization method and verify
the relations between the zeroes and the coefficients of the polynomial.
(i) 222 — (14 2V2)x +VZ (EXEMPLAR)

@ Y +3VEy -5

Find the value of a and b so that 8x* + 14x® — 2x? + ax + b is exactly divisible

by 4x? +3x — 2. (CBSE 2011)
If pand q are the zeroes of the polynomial 6y2 — 7y + 2, find a quadratic
polynomial whose zeroes are’% and :- (CBSE 2011)

On dividing a polynomial 3x* + 4x? + 5x — 13 by a polynomial g(x), the quotient
and the remainder were (3« + 10) and (16x - 43) respectively. Find g(x).

(CBSE 2011)
If one zero of a polynomial 3x? — 8x + 2k + 1 is seven times the other, find the
value of k. (CBSE 2011)

017242
(i)-2v5,F =

a=-7

1
= 2
3@ =7y
+6)

X —2x+3

K=2/3.
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